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��Π�����
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���������
������������∈ OK����������
����∈ OD�������� � ����

��	����� !�"K����������
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mod BD��������"���	
���	
��
�������������
������� ��
��� ���	��"��	�ϕ : D ⊗K P ≅ Mn (P).
������
��

��#$!D/K(a) = det ϕ (x ⊗����
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(1) =
SL1 (D) = { x ∈ D* | NrdD/K�%��&��'�������������	�
�����������(����������

���
��	�����

)��
#�)i = 1 + BD
i, Ci = Ui ∩ D(1), (i ≥�������
�
�	������)0 = UD, C0 = D(1)
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1) [C1, Ci] = Ci+1��������
����/≥ 1.

2) [C0, Ci] = 




=
≠

+ ������������������	


������������������	


��

�

!����	
�	,0, C0] = C1.

$����	��������	���
�����������	�������������
���
�	�����
��������

�����
��
�	�

����	���������	��������������	��	/����


���

����
����	������������

��������)��
#�������������
��

�����
��������

���
�
��
�	����
��
�	�����	��������
NrdD/K(1+BD

i) = 1+ PK
j
�������0���

#	�
&�� ������������������&��
����/1��
��������
���#�	��

Lviv Polytechnic National University Institutional Repository http://ena.lp.edu.ua



297

����	���������� ���� �
������ �� 

�� �
�
��
�	�� ���
��
�	�� ����	�� �
����� �
����

�


��	��


���������
������)��
#�2������������	
���	
��
��
�����
����
�������������
���

/�����+L ����

��	��	
���	
��
�#����
������ �� ����������2��
�������l����������&��������
2��)��
#� !�∈� ��� ����� 
��� !�∈� 2�� 
��� !� 

������� ����
����
�	�� ���&���

��3������ ��

�
������
����

��������������
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��������	��	�������#L/K (U(i)
L) = U(i)

K.
��������!�∈ 1+Bi

D���!�∉�2����������
��� ����	�����
����
����������3�⊂����
�������!�∈ M ∩
(1+Bi

D�������	������#$!��!��&�#M/K (d) ∈ 1+Pj
K����� 0���

#	�
&�� ������������������&��
��

�����
���/1���$������#$!��4+
i
D) ⊂ 1+Pj

K������0�≥�/1���!��
&����������
��
#��#$!��45�Πi) = 1+v
πj0

�����00 ≥�0��.��������46�πj ∈ UL
(j)

Nrd ((1+u Πi)(1+c πj)) = Nrd (1+u Πi)Nrd(1+c πj)=
= (1+v πj0)(1+c'πj)=1+c'πj + vπj0 + c'v πj+j0 ∈ 1+Pj

K.
!������ �
��	��� ��� ����� �46� πj

� ������
�� ���� 	������� �

��

�� �� )
(j)

L� �� ��� �46�� πj

������
������	��������
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����)K
(j).
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ρ0 : U0/U1 →l*

ρi : Ui/Ui+1 → l+,  i ≥ 1
�
������

ρ0 (C0) = l(1) = {x∈ l* | NL/K (x) =1},


�ρi (Ci) = 



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��	��#�������
�����l = OD/BD��$����ρ0

�
����������������
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�	����→ � ���
��ρi  (i ≥����������
��

�	���4���Πi → � ���+������

�
ρ0 (C0��	��

��

#�����	����!

#��	��ρi (Ci���)��
#�������%�∈ l� � �� ���∈ OD�� ������	�� � = x.
(�����
�	�� 7� &� �� 4� �Πi

��$���� � 8� &� #$!D/K(z) ∈ 1+Pj
K�� � ��� 0� �� 
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�������&���
���/1��������/�≠���� !�������0�≥��/4��1��������
���	�������
������	�
�
y ∈ Ui+1��
��#������#$!D/K��9��&�8��%���
�&���71 = zy-1

������	
�	�������#$!D/K (z1��&����������

z1 ∈ Ci�����ρi(z1��&�%��+�����ρi(Ci) = l�����/�≠���� !����)��
#�������/�&�0���+���������D = OL +
BD����

BD
i = OLπj + BDπj = Bj

L + Bi+1
D,      (*)

�����L����+L –���������
������ �� ������
����
��
��	��


����2��!
��
��	������+L = π OL����
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Ui=(Ui ∩ L*) Ui+1  ��������)i ∩ L* = 1+Bj
L.

$�	��������7�∈ Ci�����7�&�:8�������:�∈ Ui ∩ L*,  t ∈ Ui+1�����

NL/K (s) = NrdD/K (t) (-1) ∈ 1+PK
j+1.

!��
&���������������:�&��4$�πj, r ∈ OL����

NL/K (s) = %m=0
n-1 ϕm (1+rπj) ≅ 1+TrL/K(r)πj mod PK

j+1.

$�����;$L/K(r) ≅ 0 mod PK���������;$L/K � �&����ρi(Ci) ⊂ l(0)
��)
��
���������;$L/K(r) ≅ 0 mod

{PK'���������: = 1+rπj  	
�	�� NL/K(s) ∈ 1+PK
j+1
����������
������	�
�� t ∈ 1+BL

j+1  �
��#����
NL/K (s) = NL/K(t)  ������	�
�� z=st-1 ∈ L(1)  ∩ (1+BL

j)   �
��#�����  ρi(z) = � .
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������. )��
#��% = 1+aΠi,  y = 1+bΠj,  ��� a,b ∈ OD,  i, j ≥ 1 	����$������	��
�����	%�9� =

xyx-1y-1  	
���������  1+cΠi+j,  ��� �  = �  σi( � )- σj( � ) � � �����σ –�
���	��"��	� l�

��<�����#

�
�
��������������
����� 	������ ΠΠ→ ���!����	
�� [Ui,Uj]  ⊂  Ui+j.

1
���������)��
#���:�8��&�:8�8:��(�����
�	���	%�9� = 1+(x-1,y-1)x-1y-1.  !�����
[x,y] = 1 + (a Πi b Πj – b Πj a Πi) x-1y-1 = 1 + cΠi+j,

���6&��ΠibΠ-i – bΠjaΠ-j)Πi+jx-1y-1Π(-i+j). �%���#&��&�������&���� ����
������������ ������� == ,

����	
�	��
������
��

��������)��
#��σ�������

�������Gal(l/k���$���������n�
���������i��������	�
����������
ασ(β) – σi(α)β������������������l��������n���������i������
������	�
��������������������l(0)

= {α ∈ l  | TrL/K(α) = 0}. !����	
��ρi+1([C1,Ci]) = ρi+1(Ci+1).


	��*������)��
#���������� /��$������
��������� /�4���%��
��	���������
��	�����
���
ρi+1([C1,Ci]) = l = ρi+1(Ci+1���0
�	���ασ(β) – σi(α)β = α(σ(β)-β���������	��β ∈ l(0)

� �
������

σ(β) ≠ β������

��	��σ(β)-β = β1 ≠�����������	��α1, α2, …  αn��
���������
���������
����
��

l1<��$����α1β1, α2β1, … αnβ1����������������
����+������
�#
����	��

 ��� ������	�
���� �

���"� ��
�
	����<���������������������l��)��
#���
���������/��
�������������/�4���%��
��	��
��������ρi+1([C1,Ci]) =  l(0)  = ρi+1(Ci+1���)��
#�β ∈ l��!�������������������/4��	
�	�� /4��&�<��
$����σi = σkn-1 = σ-1

� � �� �α σ(β) – σi(α)β = α σ(β)-σ-1(α)β =  σ(σ-1(α)β) – σ-1(α)β ∈ l(0)
� � �


�����	���'�������
���
���������
��
��	���β�������
����������	�
��������l�������σ(σ-1(α)β)-σ-

1(α)β��������
�������l(0)
��)��
#���������
���������/������
���������/4���%��
��	�������� ��	�

���
����ρi+1([C1,Ci]) = l = ρi+1(Ci+1���!
	�
�	���α�

�σ(α�������
���α σ(β) – σi(α)β��+�����	��
σ(α) σ(β) – σi+1(α)β = σ(α β) – α β + α β – σi+1(α) β =  (σ(α β) – α β) + β(α -σi+1(α)). σ(αβ) – α
β�������
����������������	�
������
������	������	��.������������
����α ∈�<������σ(α) = α���
�����#� ���

��� �����
��� 
����� 
� �� ���&�	�� ���

��� σ(αβ) – αβ� ������
�� ����������
���	�
������
������	������	��!
��&���������
�
����������
������	
���������	�
����������

���	�
�
������	������	��+����������
���������/4������	��

�����
���α��
�������α – σi+1(α)
≠� ��� $����� ��������� β� �� ������
�#� ���	�
�� ����� l�� ��� �������� β (α -σi+1(α��� ������
�� ���

�
����������	�
��������l����	����������#����	�
�������l������
�����	�����	�
�����������
α σ(β) – σi(α)β.

��������)��
#�/�≠���� !������������
���α ∈ l(1)
��
�������σi(α) ≠ α.
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�����
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�	� ���	�
�
� α� �� 
��	��� #�α�� &� ���0�� ���������	������ ����  ����

���	�
�
�α \ σi(α)≠α������� ��
�����������σi(α) = α�� ��� ���� ����������� ���	�
�
� 9�∈ l ,
y=a1+a2α2+ … +an-1αn-1

���	������	
�����σi (y) = a1 + a2 α2+ … + an-1 αn-1
��$���������	
�����

���σi
��
��&
�� �
�
��

�
�	�����
����	�
������� l��.����������
�#��
��
�#����	�
�������

'
��
� ����� l�	����	
���  �� ��
���������� ������ σi
� ����

�� �����
��
��� ��� 
�  ��	������

���������������������������/�


	��*����� ��	
��+�� !� ��	� �� �� �� ������
������ ���
�� ρi+1([C1,Ci��� ������������� ��


������
�����
����	�
�
	�������ασ (β) – σi (α) β�����α ∈ l,  β ∈ l�
���β ∈ l(0)
��
���
�����

���������������/�

������
���*�	
������
�������� �����	�
����������������������
��l�
���l(0),
������ρi+1(Ci+1���+��������������
����/�	
�	��

[C1,Ci]Ci+2 = Ci+1     (**)
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%��
��	������������ 	,1, Ci] = Ci+1��!
������	���(�	
� 	����	��� �������
���� 	�����������

�������������#�
� �
��
��
�#�
��	
��
�#�����
������
(1)
�����������	��$������
���0��
������

[C1, Ci] ⊃ Cj�� �����	�� 	��

� ��
�
���� ��� 0� �� 	�
�	
��
�� ������ �� �
���� ��
���������

%�������	�������0�.�/4��������0�����≥�/����	�������������������((��������	��	��	,1, Ci] ⊃ [C1,
Cj-2] Cj = Cj-1�� ��� ����������� ��

��

�� 0�� $����� 0� &� /4�� �� �������

�� ��� ������
��� !

�������

�� ��� �����	�� ������ ������
������ 	,0, Ci] ⊃ [C1, Ci]=Ci+1�� ��	�� ���� ������

�

�������

���������������
�
������

ρi ([C0, Ci ]) = 




=
≠

���������������������	

���������������������	

)��
#����� ������%�∈ UD,  i ≥ 1,  y = 1 + a Πi
���������ρi([x,y]) = ������
��� 	�� σσ �������/�&

��� !��������ρi�	%�9���&�������������/�≠���� !���������
���	�������
����
��#����	�
��α ∈ l(1)
����

σ i (α)  ≠ α��$���������
�&�����	�
���%�∈ D(1)
���
��#������ �  = α�������	
�	��������ρi([C0, Ci])

= l�������
���&�

��������

�������	���
��
��	�����
[C0, C0] ⊂ C1 = [C0, C1].

+�����	,0, C0] = C1.
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�������  2������������2���"�’2"���
�
 �!�������� #2� ��"�
� �3���� 2 �

 ��
��	��
�2�2�� 2000

Two-sided Kurpel’s type method for differential equations in implicit form were
constructed. New theorems about monocity were proved.

��������

�� ����
 �#
�� 	������ �
�����
������� ����� ���� ���
�

� x fx= �� ��� f –


���
�#
�#� ����
���� �� �����	�� 

������������

�	�� ��������� E � 	
���� ��
��
���
�#

�
�
���������
������
��������

�	�����	�
���

������
���������������
���
� f .

������2��
���


����������

�����	������)�3
���

� [1,2]�
����	
�
���������������
����
���
� f ��+�

��	�����3
���

�	
����
�#
��&�������������
�����

0��4������� �
�����
��
�� ��������

�#�	����� �� ��
��
���
���&��������� ����
����

[3] (������
���� [4, 5]),�������2��
���


��������
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���� f ����
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